GCF fun and exciting reinforces the 

One-Step and Multi-Step Equations
Kaboom!!! A fun way to practice new skills or review old skills. It is a game of knowledge, teamwork and luck!!!
This game was designed for middle school students who will be learning how to solve the following types of equations:  one-step, two-step, multi-step with variables on both sides.  
Kaboom!!! is played with the whole class.  Separate the class into teams and have a competition by solving the following equations that are divided by learning targets.  
Your students will love the chance to “play games” in math class!!! 
This product includes everything you will need to play: teacher’s notes, instructions, playing cards and the answer key.   
Kaboom!!!
Teacher’s Notes:
There are four different games you can play with your students based on four different learning targets.  Copy and laminate the following game cards onto cardstock or colored paper.  The number at the bottom of each card is NOT the answer…it is the card number to match up on the answer key.  The answer key is on a separate piece of paper.  
This game is for the whole class.  Split the class into teams.  I usually use 2 or 3 students on a team.  If you get more than 3 on a team, then someone is usually sitting and not participating.  You can have them use paper and pencil or white boards.  White boards are easier to see.   I have them work the problem on the white board and as soon as they have the answer, they hold up the white board so I can quickly see who has the correct answer first.  If you use paper and pencil, I would have them bring you the paper and the first one to show you the correct answer would win the points.

To make it easier for you and the students, you may want to write the problems on the overhead for everyone to see; or place the card under the document camera for students to see.  (NOTE:  Laminated cards may have a glare which makes them difficult for students to see under a document camera.)  To help organize the cards, I clip them to the page they belong with.  When playing the game, I shuffle the cards and randomly pick problems for them to work on in the game.  There are cards that have problems with common misconceptions.  You may want to use time when it seems your students are struggling to instruct on those problems that students seem to find difficult.   
Instructions:

Shuffle all cards.  Turn first card over.  Write the problem on the overhead or board.  All teams work the problem.  The first team to answer correctly earns the number of points the answer is.  Ex:  the answer is 10; the team that answers correctly receives 10 points.  Some of the answers decimals and some are negative.  Keep a running list of scores for each team on the board.  If the answer is negative the team that answers it correctly first can select another team to lose that many points.  The teacher draws another card from the deck.  This is the next problem all teams solve.  This continues until all cards are completed.  
SCORING:

· The answer of the problem is the number of points awarded.

· If the answer is negative, then the winning team choses the team to subtract points from.

· When playing the game “equations with variables on both sides”, an ALL SOLUTION (IDENTITY) allows the winning team to double their points.  If the answer is NO SOLUTION…the winning team can chose the team to steal all their points.  

Who wins???  The team that has the most points at the end wins. 
Have fun!!!!

Learning Target:  I can solve one-step equations!
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Learning Target:  I can solve one-step equations!
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Learning Target:  I can solve one-step equations!
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Answer Key:  Kaboom!!! (One-step Equations)

1.  75





16.  -79.5
2.  9






17.  5.4
3.  -22





18.  146.73
4.  -69





19.  324
5.  31





20.  -19
6.  59





21.  -192
7.  29





22.  40
8.  -10





23.  -40
9.  -63





24.  26
10.  -15





25.  -288
11.  55





26.  -9
12.  32





27.  -72
13.  -23





28.  -84
14.  55





29.  -20
15. 
22.05





30.  0
GCF fun and exciting reinforces the 
Learning Target:  I can solve two-step equations!
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Learning Target:  I can solve two-step equations!
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Learning Target:  I can solve two-step equations!
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Answer Key:  Kaboom!!! (Two-step Equations)

1.  -3





16.  -91

2.  6






17.  4

3.  -10





18.  78.48

4.  30





19.  107.8

5.  -40





20.  98

6.  10





21.  -68

7.  16





22.  39

8.  0






23.  -4

9.  3 





24.  -26

10.  -20





25.  -56

11.  110





26.  -4.5

12.  20





27.  86

13.  10





28.  -104.8

14.  51





29.  -24

15. 
-11





30.  29

Learning Target:  I can solve multi-step equations!
	2x + 3x – 6 = 19

1
	2a – 3a + 1 = 15
2


	5r – 3r + 6 = 19
3
3
	3a – 5a + a = 11
4
4

	15 + 4w – 12 = -4
5
5
	-12 – 5r + 7 = 25
6
5

	3 = 7a – 6a + 2
7
5
	-22 = 4t – 10 + 2t
8
5

	7 = -15 + 4x – 34 
9
5
	5a – 5 – 3a + 1 = -10
10
5


Learning Target:  I can solve multi-step equations!
	2(2x + 3) = 30
11
5
	-5(2x + 4) = -25
12
5

	15 = 18 – 3(10 – 4w)
13
5
	-50 = 2(5 – 3y)
14
5

	8 + 2(c – 4) = 8
15
5
	½(4x + 6) = 21
16
5

	45 = 1/3(3k – 12)
17
5
	-1/2(24 – 6v) = -36
18
5

	8(2w – 3) + 25 = 73
19
5
	75 = 27 + 3(3t – 2)
20
5


Answer Key:  Kaboom!!! (Multi-step Equations)

1.  5





11.  6
2.  -14




12.  0.5
3.  6.5




13.  2.25
4.  -11




14.  10
5.  -2.75




15.  4
6.  -6




16.  9
7.  1





17.  49
8.  -2




18.  -8
9.  9.5 




19.  4.5
10.  3




20.  6
Learning Target:  I can solve equations with variables on both sides!
	6x + 10 = 1x
1
	2a – 5 = -3a
2



	8x + 3 = 2x
3

3
	2x + 7 = 11 – 2x
4

4

	5x + 5 = 14 + 2x
5
5
	7b – 4 = 2b + 16
6
5

	-2a + 3 = a – 12 
7
5
	2c + 3 = 3c – 4 
8
5

	3w – 5 = 5w – 7  
9
5
	2v – 5 = 8v – 11 
10
5


Learning Target:  I can solve equations with variables on both sides!
	2(2x + 3) = 4(x – 2)
11
5
	-5(2x + 4) = 10(-x – 2)
12
5

	6(r – 5) = -3(3r – 5)
13
5
	3d + 4 +4d = 4(3d – 4)
14
5

	4(3h – 4) = 2(6h + 8)
15
5
	2(c + 12) = ½(4c + 48)
16
5

	4k–4–3k = 1/3(3k– 12)
17
5
	-1/2(10–6v) = 1/3(9v+ 3)
18
5

	12+4(5w–3) = 20+20w
19
5
	3x+7(3x+2) = 4(6x+3)+2
20
5


Answer Key:  Kaboom!!! (Equations With Variables on Both Sides)

1.  -2





11.  No solution
2.  1






12.  All Solutions (Identity)
3.  -0.5





13.  3
4.  1






14.  4
5.  3






15.  No solution
6.  4






16. All Solutions (Identity) 
7.  5






17. All Solutions (Identity) 
8.  7






18. No solution
9.  1 





19.  No solution
10.  1





20.  All Solutions (Identity)
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